# RADIUS PROBLEM FOR A SUBCLASS OF ANALYTIC FUNCTIONS DEFINED BY FIRST ORDER DIFFERENTIAL INEQUALITY 

## ASHA THOMAS, THOMAS ROSY and S. SUNIL VARMA

1,2,3 Department of Mathematics
Madras Christian College
Tambaram, Chennai-59
Tamil Nadu, India
E-mail: rosy@mcc.edu.in
ashathomas@mcc.edu.in


#### Abstract

Let $\mathcal{A}$ denote the class of all normalized analytic functions in the unit disk $\Delta=\{z \in \mathbb{C}:|z|<1\}$ and $\Omega$ denote the subclass of $\mathcal{A}$ consisting of functions $f$ satisfying the first order differential inequality $$
\left|z f^{\prime}(z)-f(z)\right|<1 / 2, z \in \Delta .
$$

In this paper we obtain radius results for a combination of functions in the class $\mathcal{A}$ to be in the subclass $\Omega$ under certain conditions on their coefficients.


## 1. Introduction

Let $\mathcal{A}$ be the class of analytic functions $f$ defined on the unit disk $\Delta=\{z \in \mathbb{C}:|z|<1\}$ with Taylor's series expansion $f(z)=z+\sum_{n=2}^{\infty} a_{n} z^{n}$. Denote by $\mathcal{S}$ the subclass of $\mathcal{A}$ containing univalent functions. De Branges Theorem states that the Taylor's coefficients of functions in $\mathcal{S}$ satisfy the inequality $\left|a_{n}\right| \leq n, n \geq 2$ (see [2]). But the converse of the theorem is not true.

2020 Mathematics Subject Classification: 30C45.
Keywords: Analytic functions, Univalent functions, Radius problem, Differential Inequality.
*Corresponding author; E-mail: sunilvarma@mcc.edu.in
Received May 3, 2021; Accepted March 21, 2022

For example, $f(z)=z+2 z^{2}$ is not a member of the class $\mathcal{S}$ though its coefficient satisfies de Branges Theorem. Therefore it is interesting to determine the radius of the largest disk inside the unit disk for which the converse holds. This problem is known as the radius problem for the class $\mathcal{S}$.

In general, if $\mathcal{P}$ is a property which the functions in a class $\mathcal{M}$ may or may not possess in the disk $|z|<r$, the radius of the property $\mathcal{P}$ in $\mathcal{M}$ is the largest $R>0$ such that every function in $\mathcal{M}$ has the property $\mathcal{P}$ in each disk $\{z \in C:|z|<r\}$ for every $r<R$ [3]. If $\mathcal{F}$ and $\mathcal{G}$ are two subsets of $\mathcal{A}$ then the $\mathcal{G}$-radius of $f$ in $\mathcal{F}$ is the largest $R$ such that for each $f \in \mathcal{F}, r^{-1} f(r z) \in \mathcal{G}$ for each $r \leq R$. In $[12,4]$ the authors had considered this problem for various standard subclasses of $\mathcal{A}$. Recent interest among the researchers has been to solve the radii problems for certain combinations of functions in certain subclass to belong to another subclass [5, 6, 7, 8, 11].

A subclass $\Omega$ of $\mathcal{A}$ satisfying certain first order differential inequality was introduced by Peng et al. and its various properties were examined [9, 10]. In this paper we determine the radii for certain combinations of functions in the class $\mathcal{A}$ to be in the subclass $\Omega$. We now recall the definition of the class $\Omega$.

Definition 1.1 [9]. A function $f$ in $\mathcal{A}$ belongs to the class $\Omega$ if

$$
\left|z f^{\prime}(z)-f(z)\right|<1 / 2, z \in \Delta .
$$

## 2. Main Results

Let $f$ and $g$ be two functions in the class $\mathcal{A}$ having the Taylor's series

$$
\begin{equation*}
f(z)=z+\sum_{n=2}^{\infty} a_{n} z^{n} \text { and } g(z)=z+\sum_{n=2}^{\infty} b_{n} z^{n} \tag{1}
\end{equation*}
$$

respectively. Define

$$
\begin{equation*}
G(z)=\frac{f(z) g(z)}{z} \tag{2}
\end{equation*}
$$

Then $G \in \mathcal{A}$ and

$$
\begin{gather*}
\left|z G^{\prime}(z)-G(z)\right|=\left|f^{\prime}(z) g(z)+g^{\prime}(z) f(z)-2\left(\frac{f(z) g(z)}{z}\right)\right| \\
\left|z G^{\prime}(z)-G(z)\right| \leq\left|f^{\prime}(z)\right||g(z)|+\left|g^{\prime}(z)\right||f(z)|+2|f(z)|\left|\frac{g(z)}{z}\right| \tag{3}
\end{gather*}
$$

Substituting the Taylor's series for the functions $f$ and $g$ we get

$$
\begin{gather*}
\left|z G^{\prime}(z)-G(z)\right| \leq\left(1+\sum_{n=2}^{\infty} n\left|a_{n}\right| r^{n-1}\right)\left(r+\sum_{n=2}^{\infty}\left|b_{n}\right| r^{n}\right)+\left(r+\sum_{n=2}^{\infty}\left|a_{n}\right| r^{n}\right) \\
\left(1+\sum_{n=2}^{\infty} n\left|b_{n}\right| r^{n-1}\right)+2\left(r+\sum_{n=2}^{\infty}\left|a_{n}\right| r^{n}\right)\left(1+\sum_{n=2}^{\infty}\left|b_{n}\right| r^{n-1}\right) \tag{4}
\end{gather*}
$$

Theorem 2.1. Let $f, g$ and $G$ be given by (1) and (2) respectively. Let $\left|a_{n}\right| \leq 1$ for all $n \geq 2$.
(i) If $\left|b_{n}\right| \leq 1$ for all $n \geq 2$, then $G \in \Omega$ in the disk $|z|<R_{1}$ where $R_{1}$ is the root of the equation

$$
(1-r)\left(1-2 r+r^{2}\right)+4 r^{2}-8 r=0
$$

in $(0,1)$.
(ii) If $\left|b_{n}\right| \leq n$ for all $n \geq 2$, then $G \in \Omega$ in the disk $|z|<R_{2}$ where $R_{2}$ is the root of the equation

$$
(1-r)^{2}\left(1-2 r+r^{2}\right)+r^{2}-4 r=0
$$

in $(0,1)$.
(iii) If $\left|b_{n}\right| \leq \frac{2}{n}$ for all $n \geq 2$, then $G \in \Omega$ in the disk $|z|<R_{3}$ where $R_{3}$ is the root of the equation

$$
(1-r)^{2}+(12-8 r) \log (1-r)-2 r(3 r-2)=0
$$

in $(0,1)$.
(iv) If $\left|b_{n}\right| \leq \frac{n+1}{2}$ for all $n \geq 2$, then $G \in \Omega$ in the disk $|z|<R_{4}$ where $R_{4}$ is the root of the equation

$$
(1-r)^{4}-2 r^{3}+7 r^{2}-8 r=0
$$

in $(0,1)$.
Proof. (i) Applying the conditions $\left|a_{n}\right| \leq 1$ and $\left|b_{n}\right| \leq 1$ in (4) and using standard sums we get

$$
\begin{gathered}
\left|z G^{\prime}(z)-G(z)\right| \leq \frac{2 r}{(1-r)^{3}}+\frac{2 r}{(1-r)^{2}} \\
=\frac{2 r(2-r)}{(1-r)^{3}} \\
=\frac{1}{2}-\frac{1}{2(1-r)^{3}}\left((1-r)\left(1-2 r+r^{2}\right)-8 r+4 r^{2}\right)
\end{gathered}
$$

which is less than $\frac{1}{2}$ provided $\phi_{1}(r)>0$ where

$$
\phi_{1}(r)=(1-r)\left(1-2 r+r^{2}\right)-8 r+4 r^{2}
$$

Thus $\left|z G^{\prime}(z)-G(z)\right|<1 / 2$ in the disk $|z|<r, 0 \leq r<R_{1}$, where $R_{1}$ is a root of the equation

$$
(1-r)\left(1-2 r+r^{2}\right)+4 r^{2}-8 r=0
$$

in $(0,1)$.
(ii) Applying the conditions $\left|a_{n}\right| \leq 1$ and $\left|b_{n}\right| \leq n$ in (4) we get

$$
\begin{aligned}
\left|z G^{\prime}(z)-G(z)\right| & \leq \frac{r}{(1-r)^{4}}+\frac{r(1+r)}{(1-r)^{4}}+\frac{2 r}{(1-r)^{3}} \\
& =\frac{2 r(4-r)}{(1-r)^{4}}
\end{aligned}
$$

$$
=\frac{1}{2}-\frac{1}{2(1-r)^{4}}\left((1-r)^{2}\left(1-2 r+r^{2}\right)-4 r+r^{2}\right)
$$

which is less than $\frac{1}{2}$ if $\phi_{2}(r)>0$, where

$$
\phi_{2}(r)=(1-r)^{2}\left(1-2 r+r^{2}\right)-4 r+r^{2} .
$$

Thus $\left|z G^{\prime}(z)-G(z)\right|<1 / 2$ in the disk $|z|<r, 0 \leq r<R_{2}$, where $R_{2}$ is a root of the equation

$$
(1-r)^{2}\left(1-2 r+r^{2}\right)+r^{2}-4 r=0
$$

in $(0,1)$.
(iii) Applying the conditions $\left|a_{n}\right| \leq 1$ and $\left|b_{n}\right| \leq \frac{2}{n}$ in (4) we get

$$
\begin{aligned}
\left|z G^{\prime}(z)-G(z)\right| & \leq \frac{-2 \log (1-r)-r}{(1-r)^{2}}+\frac{r(1+r)}{(1-r)^{2}}+\frac{2(-2 \log (1-r)-r)}{(1-r)} \\
& =\frac{(-6+4 r) \log (1-r)+r(3 r-2)}{(1-r)^{2}} \\
& =\frac{1}{2}-\frac{1}{2(1-r)^{2}}\left((1-r)^{2}+(12-8 r) \log (1-r)-2 r(3 r-2) .\right.
\end{aligned}
$$

which is less than $\frac{1}{2}$ if $\phi_{3}(r)>0$ where

$$
\phi_{3}(r)=(1-r)^{2}+(12-8 r) \log (1-r)-2 r(3 r-2) .
$$

Thus $\left|z G^{\prime}(z)-G(z)\right|<1 / 2$ in the disk $|z|<r, 0 \leq r<R_{3}$, where $R_{3}$ is a root of the equation

$$
(1-r)^{2}+(12-8 r) \log (1-r)-2 r(3 r-2)=0
$$

in $(0,1)$.
(iv) Applying the conditions $\left|a_{n}\right| \leq 1$ and $\left|b_{n}\right| \leq \frac{n+1}{2}$ in (4) we get

$$
\begin{aligned}
&\left|z G^{\prime}(z)-G(z)\right| \leq \frac{r(2+r)}{2(1-r)^{4}}+\frac{2 r}{(1-r)^{3}}+\frac{r}{(1-r)^{2}} \\
&=\frac{r\left(8-7 r+2 r^{2}\right)}{2(1-r)^{4}} \\
&\left.\quad=\frac{1}{2}-\frac{1}{2(1-r)^{4}}\left((1-r)^{4}-8 r+7 r^{2}-2 r^{3}\right)\right)
\end{aligned}
$$

which is less than $\frac{1}{2}$ provided $\phi_{4}(r)>0$ where

$$
\phi_{4}(r)=(1-r)^{4}-2 r^{3}+7 r^{2}-8 r
$$

Thus $\left|z G^{\prime}(z)-G(z)\right|<1 / 2$ in the disk $|z|<r, 0 \leq r<R_{4}$, where $R_{4}$ is a root of the equation

$$
(1-r)^{4}-2 r^{3}+7 r^{2}-8 r=0
$$

in $(0,1)$.
Theorem 2.2. Let $f, g$ and $G$ be given by (1) and (2) respectively. Let $\left|a_{n}\right| \leq n$ for all $n \geq 2$.
(i) If $\left|b_{n}\right| \leq n$ for all $n \geq 2$, then $G \in \Omega$ in the disk $|z|<R_{5}$ where $R_{5}$ is the root of the equation

$$
(1-r)^{5}-8 r=0
$$

in $(0,1)$.
(ii) If $\left|b_{n}\right| \leq \frac{2}{n}$ for all $n \geq 2$, then $G \in \Omega$ in the disk $|z|<R_{6}$ where $R_{6}$ is the root of the equation

$$
(1-r)\left(1-2 r+r^{2}\right)+(12-4 r) \log (1-r)+4 r(1-r)=0
$$

in $(0,1)$.
(iii) If $\left|b_{n}\right| \leq \frac{n+1}{2}$ for all $n \geq 2$, then $G \in \Omega$ in the disk $|z|<R_{7}$ where $R_{7}$ is the root of the equation

$$
(1-r)^{5}+2 r^{4}-7 r^{3}+9 r^{2}-8 r=0
$$

in $(0,1)$.
Proof. (i) Applying the conditions $\left|a_{n}\right| \leq n$ and $\left|b_{n}\right| \leq n$ in (4) we get

$$
\begin{gathered}
\left|z G^{\prime}(z)-G(z)\right| \leq \frac{2 r(1-r)}{(1-r)^{5}}+\frac{2 r}{(1-r)^{4}} \\
=\frac{4 r}{(1-r)^{5}} \\
=\frac{1}{2}-\frac{1}{2(1-r)^{5}}\left((1-r)^{5}-8 r\right)
\end{gathered}
$$

which is less than $\frac{1}{2}$ provided $\phi_{5}(r)>0$ where $\phi_{5}(r)=(1-r)^{5}-8 r$. Thus $\left|z G^{\prime}(z)-G(z)\right|<1 / 2$ in the disk $|z|<r, 0 \leq r<R_{5}$, where $R_{5}$ is a root of the equation

$$
(1-r)^{5}-8 r=0
$$

in $(0,1)$.
(ii) Applying the conditions $\left|a_{n}\right| \leq n$ and $\left|b_{n}\right| \leq \frac{2}{n}$ in (4) we get

$$
\begin{aligned}
\left|z G^{\prime}(z)-G(z)\right| \leq & \leq \frac{-2 \log (1-r)(1+-r)}{(1-r)^{3}}+\frac{-4 \log (1+r)}{(1-r)^{2}}+\frac{2 r}{(1-r)^{2}} \\
& =\frac{(-6+2 r) \log (1-r)-2 r(1-r)}{(1-r)^{3}} \\
= & \frac{1}{2}-\frac{1}{2(1-r)^{3}}\left((1-r)\left(1-2 r+r^{2}\right)+(12-4 r) \log (1-r)+4 r(1-r)\right) .
\end{aligned}
$$

which is less than $\frac{1}{2}$ provided $\phi_{6}(r)>0$ where

$$
\phi_{6}(r)=(1-r)\left(1-2 r+r^{2}\right)+(12-4 r) \log (1-r)+4 r(1-r) .
$$

Thus $\left|z G^{\prime}(z)-G(z)\right|<1 / 2$ in the disk $|z|<r, 0 \leq r<R_{6}$, where $R_{6}$ is a root of the equation

$$
(1-r)\left(1-2 r+r^{2}\right)+(12-4 r) \log (1-r)+4 r(1-r)
$$

in $(0,1)$.
(iii) Applying the conditions $\left|a_{n}\right| \leq n$ and $\left|b_{n}\right| \leq \frac{n+1}{2}$ in (4) we get

$$
\begin{gathered}
\left|z G^{\prime}(z)-G(z)\right| \leq \frac{r+r^{2}+2 r(1-r)^{2}}{2(1-r)^{5}}+\frac{r+r^{2}+2 r(1-r)^{2}}{2(1-r)^{4}}+\frac{r}{(1-r)^{5}} \\
=\frac{8 r-9 r^{2}+7 r^{3}-2 r^{4}}{2(1-r)^{5}} \\
=\frac{1}{2}-\frac{1}{2(1-r)^{5}}\left((1-r)^{5}+2 r^{4}-7 r^{3}+9 r^{2}-8 r\right)
\end{gathered}
$$

which is less than $\frac{1}{2}$ if $\phi_{7}(r)>0$ where

$$
\phi_{7}(r)=(1-r)^{5}+2 r^{4}-7 r^{3}+9 r^{2}-8 r .
$$

Thus $\left|z G^{\prime}(z)-G(z)\right|<1 / 2$ in the disk $|z|<r, 0 \leq r<R_{7}$, where $R_{7}$ is a root of the equation $(1-r)^{5}+2 r^{4}-7 r^{3}+9 r^{2}-8 r=0$. in $(0,1)$.

Theorem 2.3. Let $f, g$ and $G$ be given by (1) and (2) respectively. Let $\left|a_{n}\right| \leq \frac{2}{n}$ for all $n \geq 2$.
(i) If $\left|b_{n}\right| \leq \frac{2}{n}$ for all $n \geq 2$, then $G \in \Omega$ in the disk $|z|<R_{8}$ where $R_{8}$ is the root of the equation

$$
8 r^{3}-r^{2}+r+24 r^{2} \log (1-r)+24 r \log (1-r)-32 \log (1-r)=0
$$

in $(0,1)$.
(ii) If $\left|b_{n}\right| \leq \frac{n+1}{2}$ for all $n \geq 2$, then $G \in \Omega$ in the disk $|z|<R_{9}$ where $R_{9}$ is the root of the equation

$$
(1-r)^{3}+3 r^{3}-9 r^{2}+4 r-4 r^{2} \log (1-r)-16 r \log (1-r)+12 \log (1-r)=0
$$

in $(0,1)$.

Proof. (i) Applying the conditions $\left|a_{n}\right| \leq \frac{2}{n}$ and $\left|b_{n}\right| \leq \frac{2}{n}$ in (4) we get

$$
\begin{gathered}
\left|z G^{\prime}(z)-G(z)\right| \leq \frac{2(-\log (1-r)-r)\left(2 r^{2}+2 r \log (1-r)-2 \log (1-r)\right)}{r(1-r)} \\
=\frac{16 \log (1-r)-12 r \log (1-r)-12 r^{2} \log (1-r)-4 r^{3}}{r(1-r)} \\
=\frac{1}{2}-\frac{1}{2 r(1-r)}\left(8 r^{3}-r^{2}+r+24 r^{2} \log (1-r)+24 r \log (1-r)-32 \log (1-r)\right) .
\end{gathered}
$$

which is less than $\frac{1}{2}$ provided $\phi_{8}(r)>0$, where

$$
\phi_{8}(r)=8 r^{3}-r^{2}+r+24 r^{2} \log (1-r)+24 r \log (1-r)-32 \log (1-r) .
$$

Thus $\left|z G^{\prime}(z)-G(z)\right|<1 / 2$ in the disk $|z|<r, 0 \leq r<R_{8}$, where $R_{8}$ is a root of the equation $8 r^{3}-r^{2}+r+24 r^{2} \log (1-r)+24 r \log (1-r)$ $-32 \log (1-r)=0$. in $(0,1)$.
(ii) Applying the conditions $\left|a_{n}\right| \leq \frac{2}{n}$ and $\left|b_{n}\right| \leq \frac{n+1}{2}$ in (4) we get

$$
\begin{gathered}
\left|z G^{\prime}(z)-G(z)\right| \leq \frac{r(1+r)(2-r)}{2(1-r)^{3}}+\frac{(-2 \log (1-r)-r)(3-r)}{(1-r)^{2}} \\
=\frac{-4 r+9 r^{2}-3 r^{3}-12 \log (1-r)+16 r \log (1-r)-4 r^{2} \log (1-r)}{2(1-r)^{3}} \\
=\frac{1}{2}-\frac{1}{2(1-r)^{3}}\left((1-r)^{3}+3 r^{3}-9 r^{2}+4 r-4 r^{2} \log (1-r)-16 r \log (1-r)\right. \\
+12 \log (1-r)) .
\end{gathered}
$$

which is less than $\frac{1}{2}$ provided $\phi_{9}(r)>0$, where
$\phi_{9}(r)=(1-r)^{3}+3 r^{3}-9 r^{2}+4 r-4 r^{2} \log (1-r)-16 r \log (1-r)+12 \log (1-r)$.
Thus $\left|z G^{\prime}(z)-G(z)\right|<1 / 2$ in the disk $|z|<r, 0 \leq r<R_{9}$, where $R_{9}$ is
a root of the equation $(1-r)^{3}+3 r^{3}-9 r^{2}+4 r-4 r^{2} \log (1-r)-16 r \log (1-r)$ $+12 \log (1-r)=0$ in $(0,1)$.

Theorem 2.4. Let $f, g$ and $G$ be given by (1) and (2) respectively.
If $\left|a_{n}\right| \leq \frac{n+1}{2}$ and $\left|b_{n}\right| \leq \frac{n+1}{2}$ for all $n \geq 2$, then $F \in \Omega$ in the disk $|z|<R_{10}$ where $R_{10}$ is the root of the equation

$$
(1-r)^{5}-r(2-r)\left(4-3 r+r^{2}\right)=0
$$

in $(0,1)$.
Proof. By proceeding as in previous theorems and by applying the conditions $\left|a_{n}\right| \leq \frac{n+1}{2}$ and $\left|b_{n}\right| \leq \frac{n+1}{2}$ in (4) we get

$$
\begin{gathered}
\left|z G^{\prime}(z)-G(z)\right| \leq \frac{r(2-r)}{2(1-r)^{5}}+\frac{r(2-r)^{2}}{2(1-r)^{4}} \\
=\frac{r(2-r)\left(4-3 r+r^{2}\right)}{2(1-r)^{5}} \\
=\frac{1}{2}-\frac{1}{2(1-r)^{5}}\left((1-r)^{5}-r(2-r)\left(4-3 r+r^{2}\right)\right)
\end{gathered}
$$

which is less than $\frac{1}{2}$ if $\phi_{10}(r)>0$ where

$$
\phi_{10}(r)=(1-r)^{5}-r(2-r)\left(4-3 r+r^{2}\right)
$$

Thus $\left|z G^{\prime}(z)-G(z)\right|<1 / 2$ in $|z|<r, 0 \leq r<R_{10}$, where $R_{10}$ is a root of the equation

$$
(1-r)^{5}-r(2-r)\left(4-3 r+r^{2}\right)=0
$$

in $(0,1)$.

## References

[1] A. Baricz, M. Obradovic and S. Ponnusamy, The radius of Univalence of the reciprocal of a product of two analytic functions, J. Analysis 21 (2013), 1-19.
[2] P. L. Duren, Univalent Functions (Grundlehren der mathematischen Wissenschaften 259, New York, Berlin, Heidelberg, Tokyo), Springer-Verlag, (1983).
[3] A. W. Goodman, Univalent Functions 1 and 2, Mariner Publishing, Tampa, Fla. USA, (1983).
[4] V. I. Gavrilov, Remarks on the radius of univalence of holomorphic functions, Mathematicheskie Zametki 7(3) (1970), 295-298.
[5] M. Obradovic, S. Ponnusamy and N. Tuneski, Radius of univalence of certain combination of univalent and analytic functions, Bull. Malay. Math. Sci. Soc. 35(2) (2012), 325-334.
[6] M. Obradovic and S. Ponnusamy, Univalence of the average of two analytic functions, arxiv:1203:2713v1., (2012), pp 13.
[7] M. Obradovic and S. Ponnusamy, Product of univalent functions, Mathematical and Computer Modelling 57(3-4) (2013), 793-799.
[8] M. Obradovic and S. Ponnusamy, Univalence of quotient of analytic functions, Applied Mathematics and Computation 247 (2014), 689-694.
[9] Z. Peng and G. Zhong, Some properties for certain classes of univalent functions defined by differential inequalities, Acta Mathematica Scientia 37B(1) (2017), 69-78.
[10] Z. Peng and M. Obradovic, New results for a class of univalent functions, Acta Mathematica Scientia 39B(6) (2019), 1579-1588.
[11] S. Sunil Varma and Thomas Rosy, Radius Problem for certain Combination of Analytic Functions, IJPAM 120(7) (2018), 11-18.
[12] S. Yamashita, Radii of univalence starlikeness and convexity, Bull. Aust. Math. Soc. 25(3) (1982), 453-457.

